SECTION 4.1: MAXIMUM & MINIMUM VALUES

1. Sketch a graph f(x) whose domain is the interval [—1, 4] with the following properties:
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(@) fis continuous on the in- (b) fhas aw minimum but 1 but 'no maximum

terval [—1,4], has a local no absolute maximum or minimum (of any type)
minimum at z = 0, an ab- atr = 1.
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2. Find the maximum and minimum values of f(z) = x—x'/3 on the interval [-1,4]. Determine where
those maximum and minimum values occur. :
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max. Value is :j=z.9 ot x=4 3

min. value is Y= -0.3% ot x‘é">
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3. Find the maximum and minimum values of f(x) = z+ — on the interval [1/5,4]. Determine where
x

those maximum and minimum values occur.
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min valuL 352 ot x= |

Y+g= 4.25
@ ANSWER : max. Value y=5.2 ot X=X
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4. Find the maximum and minimum values of f(z) = x%*° on the interval [-8,8]. Determine where

those maximum and minimum values occur.
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